
Solutions to midterm 2

Prepared by

Sudhir Kuman Schw.

















Problem - 2
=
⑪ for an ensemble E=EIPX(n) , 14043

,

show bat

u(s) < n(x) ,

Po =PX(a)
,

1Ym) <Tal E 9,0

mixhire= & Pic = x( (h)<

Proof:
&

let us begin wita pure State In= 142)(4nD .

LetIn be states of system A . Introduce anctom

System R win ortronomal basic 1) corresponding to ridex in
over 1P() ·

Define lar)=xITila) (4) 17 ·

↑

As (AR) is a pure state,
we evaluate von Neuman entropy

as S(t) =s() =S(()(4)(m) =S(s)
Let us penfre projective measurements on systm R on

my basis. Post measurements, the state of the systm

R es
I
IR"
= Z (a) (2)<all ·

xEX




















